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(1) 17 x 3.14 = 53.38(cm)
(2) 4 x 2 x 3.14 = 25.12( cm)
53.38 + 25.12 = 78.5( cm)
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=i cm
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> MEH 43.96cm

=

= 14 x 3.14 = 43.96( cm)

(EF) = (A5)x3.14
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® 5+2x3.14 @ 5+5x%x3.14 ® 5x3.14

@5><5><3.14 ® 10x3.14

49| wol
=T A 5)x (A & )x3.14
=5x5x3.14
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> HEHD 153.86 cm?

(29 Hol)=7x 7 x 3.14 = 153.86( cm?)
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@78.5(:1112 @ 62.8cm? ® 60.24cm?

@ 58.16cm? ® 50.24cm?

9] 4ol : 10+ 2 = 5(cm)
=

Ho] 1 5x5x3.14 = 78.5(cm?)
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A1 8x8x3.14 = 200.96( cm?)
AL ¢ 14 x 14 = 196( cm?)
kA dof gol7t A 9 Wolko ¥ Wsunt.
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10. ¥=F7F25.12emQl o] FUtt o] Y] WolE ot L.
» E: cm?

> Heh 50.24 cm?

(WA 8) = 25.12 + 3.14 + 2 = 4(cm)
(4

A5 =
0]) =4 x4 x3.14 = 50.24( cm?)
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~&B

(BAT 22| Ho))
—(2 912 Wol)- (%
= (6x6x3.14) - (3
= 113.04 — 28.26

= 84.78(cm?)
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(AAHZH wol)- (Y] Hol)
=14x14-7Tx7x3.14
=196 — 153.86

= 42.14( cm?)




13. The TN AU HEO| HolE TS,

2.cm

27 22 Yol)
(2 212 Yol)- (% 2] o))
6x6x3.14-4x4x%x3.14

= 113.04 — 50.24

= 62.8( cm?)
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14. b= =99 =99 Zol& T35t L.
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> E: cm

[> HED 71.96cm

B

(A o) S) = (82 Zol) x2+(8F)
=14X2+7%x2x3.14

= 28 + 43.96

= 71.96( cm)
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Ox3.14-0x3 =42
Ox0.14 =42
0= 30(cm)




16. AE°]30cm? 9526 ZH 9522 emE =A7HISUR
= cm

>
> HEH. 565.2cm

30 % 3.14 X 6 = 565.2( cm)




17. 99 &7} 31.4cm ¢ 9 @9 25.12em ¢ € @7F 5UTE 9 @
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» E: cm?

[> ®EHD 28.26.cm?

B \
(¥ @9 §tx]529 do])

=31.4+3.14+2=5(cm)

H @9 A F2 dol)

=25.12+3.14+2 =4(cm)

A @2 9 Qo Helol 2

=5x5x%x3.14-4x4x%x3.14

= 78.5 — 50.24 = 28.26( cm?)
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18. the 13} o] oA 28.26 cm? 7t Dol Ry, BolH 22 ¢
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2 FEo] Yol 1 2826 + 0.2 x 0.8 = 113.04( cm?)
e BRI Yol7h e o] xS [ Jekx 5t

x| ]x3.14 = 113.04( cm?)
x| ]=113.04+3.14
=36

HiEEN

= 6(cm)




5cm QY.
(Y¥5F) =5x3.14 = 15.7(cm)
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@ 94.2cm? @ 125.6cm? @157cm2
@ 188.4cm? ® 314cm?

CELEREREE)
=(#1:50] 20emd A2 Wol)x ;- (AF0] 20eme) 22 4

O])x_

:20><20><3.14><}1—10><10x3.14><%

= 314 - 157
= 157(cm?)




